04

-8 5L

5. 1625 golion 7 3 4 5

16. b 10DS | _
' umber, move that many spoces to the left.

number, move thot many spoces Yo the right.

gou end up is the answert



TECHNIQUE #2.
USE ABSOLUTE VALUE

- I£ you need to add larger numbers, you probably dons
want to drow o number line. So, ook ot the signs ond decide
what o do:

Beqjin ot zero. Becouse -5is negative, move 5 spoces 10 the lefh

d—a P SIS -
X4 3 21 01 2 34 5

Becouse 4 is positive, move 4 spaces fo the right.
Where did you end up?

-Tis correct!

~ Both -1 and -Z are negative, so they are alike. We add
 them together and keep their sign fo get =3, S

Begjn ot zero. Move T space fo the left. Then move 2 more
spoces fo the left. Where did you end up? )




210 and 4 hove diferent signs, so subtract +he absolvte
valve, like so: i*?@%-!‘%!ﬂ@*ﬁ%ﬁ@.

-17 + -1

-10 had the higher absolute volue, so the answer is also
negotive: -9, ' -
-14+19
2354100 728+ (-13)
25.100=065  (Different sign, so we have to subtrocH 17 +%+-8
£100 nad the higher absolu+e volve, s0
the onswer is also positive) -54+ -113
-BAlp+ 733

AN _ The femperature in Wisconsin wos -9
degrees Fahrenheit in the morning. By noon, it hod risen by
11 degrees Fohrenheit. What wos the temperoture of noon”.
Use integers to solve. I’rs 0 degrees outside ot midnight. The temperature

of the air drops Z0 degrees in the morning hours, then
ggins 3 degre.es oS soon as the sun comes vp. Whot is

ihg temperature ofter the sun comes up?

B+2L=14

The temperature at noon wos 14 degrees Fahrenheit.
Demse owes her friend Jessica $2.5. She pays her back
$ﬂ:&_ Bow much does she still owe?



